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Time: 35 Minutes | Paper Math7(T-1) |  Total Marks: 25 |

| 6th Month, 4th Week, 5th Day | Revision Test (4th Week) |

Q.1. Choose the correct options. 1x10=10) -g{/yl‘?ll(..,alﬁu/)

(i) The singular of data is:

2+ybd/ 7]
(a) | datum (‘:f (b) | graph o1l (¢) | values o (d) |observationse Ll

(ii) Pie graph is also called:

uggfu"l.nfég

(a)| histogram ('/f #7 [ (b)| line graph Jl/@5 1y
(c)| bar graph S | |(d)| circular graph S Sasl

(iii) The value of probability lies between: :‘a&@uwé :ﬂf": d/ubl
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0<P(A)=l ()| 0=P(A)=l [(9)| O<P(A)<I |(d)| O<P(A)<Il

(iv) The probability of getting number 6 in rolling a dice is:
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(v) Which of the following graph is suitable, when the data is given in

continuous frequency distribution?
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(a histogramri/’i'@“” (b) |bar graph J'/CL (c) |line graphdl/”f (d) | pie graphJUﬁg
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(vi) Ungrouped data is also known as:

(a) | qualitative data S#Gsl= [(b)| grouped data )'}"6‘}/';
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(c) [ raw data )'}”rlp'v (d) [ quantitative data S

(vii) The mean of five numbers is 15.75. If the first four numbers are 16.25,
14.25, 15.50 and 15.73 then find the 5th number.
o1 | I 16.25014.2515115.5015.73 L6l N1 e 1575441 551l

(a) 16.25 ) 17.02 © 15.73 d 14.25

(viii) The probability of not getting number 1 in a rolling a dice is:
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(ix) Grouped data can be in the form of:

‘)(;‘ ¢ | (b) | ungrouped data ;lr‘du/;-f’

(a) | raw form

(c) | frequency table Jugdu.; (d) [ None of these uﬁ’/ é/cu:u'
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(x) What is the mode of the data 2, 5,9, 4, 3, 6,10, 11, 12?
S 2662,5,9,4,3,6,10, 11, 1251

(a) 2 (b) 9 (c) 12 (d)| Nomode
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(i) Find the mean, median and mode of the following data:
LI 2 s b f 5T
100.25, 85.35, 89.75, 80.50, 84.95, 99.5, 98.6, 101.5, 88.25, 99.25, 97.35,
111.5,100.25
(i) Tahir throws a pair of fair dice. Find the probability of getting no even

Q.2. Answer the following questions: (4x2=8)

number on the both dice.
_q/})’@&.!Ké_n;;|ﬁloﬁzg’¢l)u‘fu{+£@%‘ng£_l),;£,ﬂﬂu»
(iii) A letter is choosen at random from the word "STATISTICS". Find the
probability of getting.
LIS S 5\ Sty 2 e “STATISTICS 5
@ P(T) ® B(T)
(iv) The mean of 8, 9, 10, 14 and x is 10. Find the value of the observation x.
S e 10641 5018, 9, 10, 14
Q.3. Find mean of the given data. (1x4=4) - /(()1"‘ w(;vée;
length (mm) 30-50|50-70 [ 70-90 |90 -110( 110130
Frequency 15 18 35 20 13

Q.4. The percentage of expenditure of a compancy under different heads is as

follows. Represent the following information on the pie chart. (1x3=3)
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Heads of expenditure Salary Electricity | Conveyance| Machines

Percentage 4 40% 20% 15% 25%




